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PROBLEM 5 :
The open-loop frequency characteristic of an OpAmp,
in the figure below. The OpAmp has ry = IMQ and r,

a) Find the value of f;, for the OpAmp.

bandwidth of the amplifier. Calculate the input
500kHz.
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b) If the OpAmp is used to build a @nmm

using the dominant pole model, is shown
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EXAM 2- ECE 723 - SPRING 2009
Open Book, Closed Notes, 50 minutes

PROBLEM 1 ;
The open-loop frequency characteristic of an OpAmp, using the dominant pole model, is shown
in the figure below. The OpAmp has ry = 1MCQ and ro = 100€2, C. = 30pF.
a) Find the value of f; for the OpAmp.
b) Ifthe OpAmp is used to build an mphﬁer with Rj=10k and R,=40k, sketch its
frequency response and calculate:
e the 3dB bandwidth (that is fg)
e the unity gain bandwidth of the amplifier (that is ;)
c) Ifthe OpAmp is used to build an i[@l’}ﬁg amplifier with a gain of 10, derive the
formula calculate the frequency fy at which the input impedance is 1.2R;. Assume that
such frequency fi, << f, <<fi.
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PROBLEM 2 (Emu 2 §,’>’1wi H} | ﬁ) 6 Ze 7

In the given circuit, all remstances are equal to 5kQ. The Op Amp has ap = 10° V/V, f;= 10 MHz,
14 = 0, 1o = 0. Sketch the magnitude plot of the impedance Zo seen by the load. ,
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